Unit 5: Freedom in America From Reconstruction to the Second World War (1870-1940) 

Issue #1: The Wealth Gap 

Task Card #1:  Formation of Monopolies and Trusts (1880s-1900) 

Aim: To evaluate why and how economic inequalities emerged during, and as a result of, the second industrial revolution.

Materials:

· Laptop
· Handout: The Second Industrial Revolution: Increasing Wealth and Poverty  
· Handout: Captain of Industry or Robber Baron?

· Handout: An Original Poem by Greg 
Activity: 

· Complete handout entitled: The Second Industrial Revolution: Increasing Wealth and Poverty  
a. Complete independently

b. Share responses with a neighbor before moving on.  

2) Locate PowerPoint entitled “How Men Like Carnegie Became Rich” (watch, listen, and/or take notes) 

3) Read and annotate Greg’s Poem entitled: Captains of Industry and Robber Barons.
4) Complete handout entitled: Captain of Industry or Robber Baron?

5) Conduct a small group discussion: In groups no larger than four and no smaller than two, discuss the following questions.  Give yourself 5-10 minutes to respond/think about the questions before conducting the discussion.  

a. Discussion Questions: 

i. Is economic success the result of ones’ actions or are there other factors that allow for a person to be wealthy? 

ii. Should the government prevent or limit people like Andrew Carnegie from accumulating so much wealth? If so, how and to what extent should the government be involved? 

iii. In a capitalist society, is it possible to have wealthy people without poor people? 

6) Submit your own responses to the above questions or write a Discussion Reflection. 
